Problems: 1,2,4,5,6 from Stein. Ch2.

#1 Prove that
$$\int_{0}^{\infty} \sin(x^{2}) dx = \int_{0}^{\infty} \cos(x^{2}) dx = \frac{\int_{0}^{2T}}{A}$$
.
Proof: Consider the contour integral $\int C_{R} e^{-z^{2}} dz$, where C_{R}
is as follows
 $C_{R,3} \xrightarrow{C_{R,2}} C_{R,2}$
 $\cdot Since e^{-z^{2}}$ is an entire function, by Cauchy theorem, we have $\int C_{R} \cdot e^{-z^{2}} dz = 0$.
 $I_{1} = \int C_{R,1} e^{-z^{2}} dz = \int_{0}^{R} e^{-x^{2}} dx$
 $I_{2} = \int C_{R,2} e^{-z^{2}} dz = \int_{0}^{R} e^{-x^{2}} dx$
 $I_{3} = \int C_{R,3} e^{-z^{2}} dz = \int_{n=0}^{N} e^{-(Re^{\frac{1}{2}})^{2}} d(Re^{\frac{1}{2}})$
 $= \int C_{R,3} e^{-z^{2}} dz = \int_{n=0}^{N} e^{-(Re^{\frac{1}{2}})^{2}} d(Re^{\frac{1}{2}})$
 $= -e^{\frac{1}{2}} \int_{0}^{R} e^{-tr^{2}} dr = -e^{\frac{1}{2}} \int_{0}^{R} \cos(r^{2}) - i \sinh(r^{2}) dr$
We claim that : $I_{2} \rightarrow 0$ as $R \rightarrow \infty$. Given the claim, we have $\int_{0}^{\infty} \cos(r^{2}) - i \sin(r^{2}) dr = \int_{R}^{1} \frac{I_{1}}{2} - e^{\frac{1}{2}} \frac{I_{1}}{2} - e^{\frac{1}{2}} \frac{I_{2}}{2} = \int_{0}^{\infty} e^{-tr^{2}} dr = \int_{0}^{\infty} e^{-tr^{2}} dr = \int_{0}^{1} \frac{I_{1}}{2} - \frac{I_{1}}{2} - \frac{I_{2}}{2} \frac{I_{2}}{2} = \int_{0}^{\infty} e^{-tr^{2}} dr = \int_{0}^{\infty} e^{-tr^{2}} dr = I_{1} - \frac{I_{1}}{2} \frac{I_{2}}{2} \frac{I_{1}}{2} - \frac{I_{1}}{2} \frac{I_{2}}{2} \frac{I_{$

$$= \lim_{R \to 10} \frac{1}{e^{iT_{4}}} = e^{-i\frac{\pi}{4}} \cdot \frac{\pi}{2} = \left(\frac{5^{2}}{2} - \frac{5^{2}}{2}\right) \cdot \frac{5\pi}{2} = \frac{5\pi}{4} - \frac{5\pi}{4}$$

Since
$$\int_{0}^{\infty} \cos r^{2} dr$$
 and $\int_{0}^{\infty} \sin(r^{2}) dr$ are both real, we
can compare the real and imaginary parts of the above equation
and get the desired result.

Now, we turn back to prove the claim.

$$|I_{3}| = |\int_{\theta=0}^{T/4} e^{-R^{2}e^{2i\theta}} Re^{i\theta} i d\theta|$$

$$\leq \int_{0}^{T/4} e^{-R^{2}cos^{2}\theta} R d\theta$$
For $\theta \in [0, \nabla_{4}]$, let $\theta = \frac{T}{4} - u$, we have.

$$cos(2\theta) = cos(\frac{T}{2} - 2u) = sin(2u) \neq \frac{4}{\pi}U \quad \text{for } u \in [0, \frac{T}{4}].$$

$$\int_{0}^{\frac{T}{4}} e^{-R^{2}cos^{2}\theta} d\theta = \int_{0}^{\frac{T}{4}} e^{-R^{2}sin(2u)} du \leq \int_{0}^{\frac{T}{4}} e^{-R^{2}\cdot\frac{4}{\pi}u} du$$

$$\leq \int_{0}^{\infty} e^{-R^{2}\frac{4}{\pi}\cdot u} dx = \frac{\pi}{4R^{2}}.$$
Thus, $|I_{3}| \leq R \cdot \frac{T}{4R^{2}} = \frac{T}{4} \cdot \frac{1}{R} \rightarrow 0$ as $R \rightarrow \infty$. #.

$$\frac{1}{2} Show + hat \int_{0}^{\infty} \frac{sinx}{x} dx = \frac{\pi}{2}.$$
Proof: $\int_{0}^{\infty} \frac{sinx}{x} dx = \frac{lim}{x} \int_{s}^{R} \frac{e^{ix} - e^{-ix}}{2ix} dx$

$$= \lim_{x \to \infty} \left(\int_{z}^{R} \frac{e^{ix}}{2ix} dx + \int_{z}^{R} \frac{-e^{-ix}}{2ix} dx \right)$$

Let $x = -u$, then $u = -x$ from $-z$ to $-R$

0

× 1.7

$$= \lim_{x \to \infty} \left(\int_{-\infty}^{\infty} \frac{e^{ix}}{2ix} dx + \int_{-\varepsilon}^{-\varepsilon} \frac{e^{iu}}{-ziu} d(\omega) \right)$$

$$= \lim_{x \to \infty} \left(\int_{-\infty}^{\varepsilon} \frac{e^{ix}}{2ix} dx + \int_{-\infty}^{-\varepsilon} \frac{e^{iu}}{2iu} du \right)$$

$$= \lim_{x \to \infty} \left(\int_{-\infty}^{\varepsilon} \frac{e^{ix}}{2ix} dx + \int_{-\infty}^{-\varepsilon} \frac{e^{iu}}{2iu} du \right)$$

$$= \lim_{x \to \infty} \left(\int_{-\infty}^{\varepsilon} \frac{e^{ix}}{2ix} dx + \int_{-\infty}^{-\varepsilon} \frac{e^{ix}}{2iu} dx - \dots - (4) \right)$$
Note that, $\int_{-\infty}^{\varepsilon} \frac{1}{x} dx = -\int_{-\infty}^{-\varepsilon} \frac{1}{x} dx$, hence the above integral is also
$$\lim_{x \to \infty} \left(\int_{-\infty}^{-\varepsilon} \frac{e^{ix}}{2ix} dx - \dots - (4) \right)$$
Note that, $\int_{-\infty}^{\varepsilon} \frac{1}{x} dx = -\int_{-\infty}^{-\varepsilon} \frac{1}{x} dx$, hence the above integral is also
$$\lim_{x \to \infty} \left(\int_{-\infty}^{-\varepsilon} \frac{1}{x} \int_{-\infty}^{\infty} \frac{e^{ix-1}}{2ix} dx - \dots - (4) \right)$$
In the following, I will give a solutions using (4) or. (4*),
$$\lim_{x \to \infty} \int_{-\infty}^{0} \frac{1}{2iz} dz = \int_{-\infty}^{0} \frac{e^{ix-1}}{2iz} dz - \frac{1}{2iz} dz$$
since $(e^{ix-1})/(2iz)$ is a bounded function near $Z = 0$,
$$\int_{-\infty}^{0} \frac{1}{2iz} dz = \frac{1}{2i} \int_{-\infty}^{0} \frac{1}{2e^{ix}} dx = \frac{1}{2i} (-\pi i) = -\frac{\pi}{2}$$

$$\int_{-\infty}^{0} \frac{e^{iz}}{2iz} dz - \frac{1}{2i} 0 = \pi \frac{1}{2e^{ix}} e^{ix} dx = \frac{1}{2i} (-\pi i) = -\frac{\pi}{2}$$

$$\int_{-\infty}^{0} \frac{e^{iz}}{2iz} dz - \frac{1}{2i} 0 = \pi \frac{1}{2e^{ix}} dz = -\lim_{x \to \infty} (\int_{-\infty}^{0} \int_{-\infty}^{0} \frac{e^{iz}}{2iz} dz = \frac{\pi}{2}$$

Using (XX): Consider the same contour, now we have. $\int_{C_{1}}^{C_{1}} \frac{e^{iz}-i}{2iz} dz \rightarrow 0 \quad \text{as} \quad z \rightarrow 0$ $\int_{C_R} \frac{e^{iz} - 1}{2iz} dz = \int_{C_R} \frac{-1}{2iz} dz + \int_{C_R} \frac{e^{iz}}{2iz} dz$ $\longrightarrow \int_{C_R} \frac{-1}{2i^2} dz$ as $R \rightarrow \infty$ = $\frac{-1}{2i} (\pi i) = -\frac{\pi}{2}$. $\frac{\lim_{z \to b} \left(\int_{C_{-}} + \int_{C_{+}} \right) \frac{e^{i\frac{z}{z}}}{zi\frac{z}} dz = -\lim_{z \to -} \left(\int_{C_{z}} + \int_{C_{k}} \right) \frac{e^{i\frac{z}{z}}}{zi\frac{z}} dz = \frac{\pi}{a}.$ # #4 Prove that for all $3 \in \mathbb{C}$, we have $e^{-\pi \cdot s^2} = \int_{-\infty}^{+\infty} e^{-\pi \cdot x^2} e^{2\pi i \cdot x \cdot s} dx$ Pf: Consider the RHS of the equation: $\int_{-\infty}^{+\infty} e^{-\pi (X^2 - 2ix\xi)} dx = \int_{-\infty}^{+\infty} e^{-\pi ((X - i\xi)^2 - (i\xi)^2)} dx$ $= \int_{-\infty}^{+\infty} e^{-\pi(x-iS)^2 - \pi S^2} dx$ Hence, suffice to prove that



$$\begin{array}{rcl} & \mbox{without loss of generality, we may assume } & \mbox{w}=0. \\ & \mbox{For 1>2>0, lat ET denote the triangle. T rescaled by z. \\ & \mbox{Then, we may triangulate the polygon. region} \\ & \mbox{hetween T and z as shown. \\ & \mbox{By Gourset theorem, integral elong any of the shaded} \\ & \mbox{triangles is zero. Hence.} \\ & \end{tabular} \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz. & \end{times} J = \sum_{t=1}^{t} f(z) dz \\ & \mbox{However, since f is bounded on the solid triangle bounded by T,} \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz \\ & \end{times} \int_T f(z) dz = \int_{\mathcal{ET}} f(z) dz \\ & \end{times} \int_T f(z) dz \\ & \end{times} \int_T$$